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FACULTY OF COMMERCE
B.Com. (Sixth Semester) EXAMINATION
MAY/JUNE, 2022
(New Course)
MANAGEMENT ACCOUNTING
Paper-II (B.C.6.2)

(Saturday, 4-6-2022) Time : 9.30 am. to 1.15 p.m.
Time— 3.45 Hours Maximum Marks—T75
N.B. .— (@) Q. No. 1 is compulsory.

(@1) Use of simple calculator is allowed.
(7it) Figures to the right side indicate full marks.
G) W . 1 AFEE SR

(i) I RIS ORI U 3R

(ifi) 3T SN U Rffaerel .

1. From the following Trading and Profit & Loss Account for the year ended
on 31st December, 2019 & 2020 you are required to prepare a common size
income statement : 20

Trading and Profit & Loss Account
(for the year ended 31st December)

Particulars 2019 2020
T T
Opening Stock 60,000 55,000
Purchases 2,40,000 2,15,000
Gross Profit 1,55,000 1,50,000
4,55,000 4,20,000
P.T.O.
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Operating Expenses

Net Profit

Sales

Closing stock

Gross Profit b/d

2

1,30,000
25,000

1,55,000

4,00,000
55,000

4,55,000

1,55,000

1,565,000
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2019
4
60,000
2,40,000
1,55,000

4,55,000

1,30,000
25,000

1,55,000

4,00,000
55,000

4,55,000

1,55,000

1,55,000
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55,000
2,15,000
1,50,000
4,20,000
1,32,000

18,000
1,50,000
3,75,000

45,000
4,20,000
1,50,000
1,50,000
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The following is the Balance Sheet of Satyendra Tool Ltd., Nanded as on

31st March, 2021 : 15
Balance Sheet
Liability 4 Asset 3
Share Captial 2,00,000 Land and Building 1,40,000
Profit & Loss 30,000 Plant & Machine 3,560,000
General Reserve 40,000  Stock in trade 2,00,000
12% Debenture 4,20,000 Debtors 1,00,000
Creditor 1,00,000 Bills receivable 10,000
Bills payable 50,000 Bank Balance 40,000
8,40,000 8,40,000
Calculate :

() Current Ratio

(@)  Quick Ratio

(zit)  Proprietory Ratio

(tv) Current Asset to Fixed Asset Ratio

(v) Capital Gearing Ratio.
31 9, 2021 A= HAZ & off. = feafafqeo ey .

Rerdtfaavor

ot 3 ot z

g qTEad 2,00,000 <HH § ARG 1,40,000
THI-TIeT 30,000 ¥= 3,50,000
= Gt 40,000 9Tl 2,00,000
12% @sE 4,20,000 ORI 1,00,000
CECT| 1,00,000 Y= fauq= 10,000
g fau= 50,000 AfFHERY I@ 40,000

P.T.O.

63C28469EDBGA9BDO08BAFAD2EA3CF596



WT

( 4
MO &
() = U
() WA FII

(i)  EH ST
Gv) = Hud fer Houll STgd

(v) Wi TR 3T,

Or
(fenam)

NA—42—2022

The following is the Balance Sheet of Mahesh Co. Ltd. as on 31. Dec. 2020 :

Balance Sheet

(as on 31st Dec. 2020)

Liability 4
Equity Share Capital 1,50,000
9% Pref. Share Capital 50,000
10% Debenture 1,00,000
Reserve & Surplus 25,000
Long-term loans 12,500
Current liability 1,12,500
450,000

You are required to calculate :
@) Debt Equity Ratio

(z1)  Proprietory Ratio

(z11) ~ Capital Gearing Ratio

(iv)  Current Ratio.

Assets
Fixed Assets
Investment

Current Asset
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1,25,000
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Swati Company Ltd. is considering the purchase of a new machine. Two

alternative mahines (A and B) have been suggested each having an initial

cost of ¥ 2,00,000 :

Year Present value of

T 1 at 12% discount Machine ‘A’

2016 0.893 80000
2017 0.797 70000
2018 0.712 50000
2019 0.635 40000

15

Cash inflow
Machine ‘B’

100000
80000
60000
60000

The company has a target of return on capital of 12% on this basis. You are

required to compare the net persent value of the machines and advise which

machine should be purchased employing discounted cash flow method.
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T 19 12% 3UERM™ PENRCE o7 ‘q’
2016 0.893 80000 100000
2017 0.797 70000 80000
2018 0.712 50000 60000
2019 0.635 40000 60000

(alla

THee AT 12% a1 <X fHaskhd< @ Mfv=d oal o, adia Aifediean sTER
I PG TAHM o=l garl S STIRIRG I JaT8 Igedi=l 9 h&d hivd
I3 WG HAA AT HEHET Hea .

Or
(feram)
You are given the following figures relating to Anjali Ltd. for the year 2019 :
Items Budgeted Actual
€9) ®
Sales 1,20,000 1,40,000
Direct Materials 40,000 50,000
Direct Wages 20,000 16,000
Administrative Exp. 18,000 24,000
Finance Exp. 6,000 6,000
Selling Exp. 12,000 16,000
Tax 4,000 5,000

Prepare responsibility accounting report for the profit centre showing therein

variances from budget in absolute figures.
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famt 1,20,000 1,40,000
gy wre 40,000 50,000
JA& A 20,000 16,000
EIRE RG] 18,000 24,000
IEIRIRCE| 6,000 6,000
fast == 12,000 16,000
ET) 4,000 5,000
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You are given the following figures of Shubham Ltd. for the year 2018 : 15

Items Budgeted Actual
9] ®
Sale 90,000 1,00,000
Direct Materials 30,000 50,000
Direct Wages 14,000 10,000
Administrative Exp. 14,000 20,000
Financial Exp. 4,000 3,000
Selling Exp. 10,000 10,000
Total cost 72,000 93,000
Profit before Tax 18,000 7,000
Tax 3,000 2,000
Net Profit after Tax 15,000 5,000

On the basis of given information prepare responsibility account for profit

center.

P.T.O.
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forsht 90,000 1,00,000
gy we 30,000 50,000
JaY A 14,000 10,000
EIRE RG] 14,000 20,000
fosita = 4,000 3,000
fast == 10,000 10,000
TR IR 72,000 93,000
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Karan Company Ltd. is considering the purchase of new machine. Two

alternative machines (A & B) have been suggested. Each having an initial

cost of ¥ 1,50,000 :
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Years NPV of T 1 @ 15% Cash Flow
Machine A Machine B

2017 0.870 65,000 82,000
2018 0.756 60,000 69,000
2019 0.658 41,000 50,000
2020 0.572 32,000 50,000

You are required to compare the Net Present Value of the machine and advise

which machine should be purchased employing discounted cash flow method.

T YHSE Wl o Ueh Afod I3 WREl wUFdA™ 3TR. F yaEn I3 (‘s g ‘9')

qAGUa T Sd U Ia g fhaa 2 1,50,000 3TE.

L) A o T 1 9 15% TG RIS

RERRC K o ‘9’
2017 0.870 65,000 82,000
2018 0.756 60,000 69,000
2019 0.658 41,000 50,000
2020 0.572 32,000 50,000

oIl Hifed = SER Fo=al Yo aadM oAl ol ol AU TIeRid I8 YaE

Write short notes on (any three) : 10
(¥) Advantages of Ratio Analysis
(z1)  Methods of financial statement analysis
(zii)  Responsibility Accounting
(v) ~Importance of capital budgeting.
P.T.O.
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